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NEW QUESTION 1
What are two types of SIDs used in segment touting? (Choose two.)

A. node

B. adjacency
C. link

D. interface

Answer: AB

NEW QUESTION 2

Exhibit
172.20.110.0/24  203.0.113.030 20301136430 472 20.111.024
A0 A 3___:' - : 85 .66 1 1
[Ep = = - I - - ) —
User A R1 R2 User B
lo0: 198.51.100.1 lol: 192.0.2.1
gr-0/0/0.0 gr-0/0/0.0

Referring to the exhibit, how do you verify the status of the tunnel from R1?

A. Issue the ping 172.20.111.10 source 172.20.110.1 command.
B. Issue the ping 172.20.111.10 source 198.51.100.1 command.
C. Issue the ping 172.20.iii.io source 203.0.113.2 command.

D. Issue the ping 172.20. I

E. 10 command.

Answer: C

NEW QUESTION 3
How does a Junos device learn about MAC addresses when Il is first connected to an Ethernet LAN?

A. The device sends out a network broadcast message asking tor all devices and MAC addresses on the network and stores this information In addition lo the
interface from which the response was received.

B. The device learns the destination MAC addresses from traffic in the network and stores this MAC address in addition to the interface from which the traffic was
received.

C. The device learns the source MAC addresses from traffic in the network and stores this MAC address in addition to the interface from which the traffic was
received.

D. The device sends out a network multicast message asking for all devices and MAC addresses on the network and stores this Information in addition to the
interface from which the response was received.

Answer: D

NEW QUESTION 4
Which two statements are correct about the way that BGP propagates routes by default? (Choose two.)

A. A route learned by EBGP will be re-advertised to IBGP peers.

B. A route learned by IBGP will not be re-advertised lo IBGP peers.
C. Aroute learned by EBGP will not be re-advertised to IBGP peers.
D. A route learned by IBGP will be re-advertised to IBGP peers.

Answer: CD

NEW QUESTION 5
Which LSA type does an OSPF ABR use to advertise external routes generated by an NSSAASBR into the backbone?

A. Type 5
B. Type 7
C. Type 3
D. Type 1

Answer: C

NEW QUESTION 6

Exhibit

S Exhibit

LSI1 A AS 65501 ISPB AS 65502

Advertised Prefixes: 172.20.0.0/24 172.20.20.0/24 172.20.21.0/24
\'N

Advertised Prefixes: 172.20.0.0/24 172.20.1.0/24
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Referring to the exhibit, which two statements are correct? (Choose two.)

A. Devices in AS 65512 will prefer ISP A for traffic destined to the 172.20.21.0/24 network.
B. Devices In AS 65512 will prefer ISP A for traffic destined to the 172.20.0.0/24 network.
C. Devices in AS 65512 will prefer ISP B for traffic destined to the 172.20.21.0/24 network.
D. Devices In AS 65512 will prefer ISP B for traffic destined to the 172.20.0.0/24 network.

Answer: C

NEW QUESTION 7
Exhibit
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Referring to the exhibit, what is the minimum number of LSPs required to support alt four networks?
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Answer: C

NEW QUESTION 8

200

You are bringing a new network online with three MX Series devices enabled for STP. No root bridge priority has been configured. Which statement is true in this

scenario?

A. The device with the lowest MAC address will be elected as the root bridge.

B. The device with the highest MAC address will be elected as the root bridge.

C. The device with the lowest numerical 100 IP address will be elected as the root bridge.
D. The device with the highest numerical 100 IP address will be elected as The bridge.
Answer: A

NEW QUESTION 9
Exhibit
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You are asked to configure the OSPF environment to prevent the DRother routers from participating in DR/BDR election.
Referring to the exhibit, which command will accomplish this task?

A. set protocols ospf area 0.0.0.0 interface ge-0/0/1 priority 255

B. set protocols ospf area 0.0.0.0 interface ge-0/0/1 priority O

C. set protocols ospf area 0.0.0.0 interface ge-0/0/1 interface-type nbma
D. set protocols ospf area 0.0.0.0 interface ge—0/0/1 interface-type p2p

Answer: A

NEW QUESTION 10
Which two statements ate correct about the community BGP attribute on a Junos device? (Choose two.)

A. The community attribute is a mandatory BGP attribute.

B. If the community attribute is present, it is ignored and deleted in the BGP updates.

C. If the community attribute is present, it should be passed unchanged in the BGP updates.
D. The community attribute is an optional BGP attribute.

Answer: AC

NEW QUESTION 10

Which statement is correct about IS-IS?

A. 1S-IS is a distance vector routing protocol.
B. IS-IS is a path vector routing protocol.

C. IS-IS is a link-state routing protocol.

D. IS-IS is a classful routing protocol.
Answer: C

NEW QUESTION 11
Exhibit

R4 RS R6

RVSP LSP with 300 Mbps reserved
RVSP LSP with 700 Mbps reserved

The exhibit shows a topology with 1 Gbps interfaces between routers, and four RSVP LSPs operating with the respective bandwidth reservations.
Which path will be selected for a new LSP from R4 to R6 with a bandwidth reservation of 400 Mbps?
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A.R4->R1->R2->R5->R6
B.R4 ->R5->R6

C.R4->R5->R2->R3->R6
D.R4->R1->R2->R3->R6

Answer: A

NEW QUESTION 15
Exhibit.
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Referring to the exhibit, you have configured an aggregate route that represents the 172.21.0.0/24, 172.21.1.0/24, and 172.21.2.0/24 networks. However, when

you view the routing table, your new route hidden.
Which action would you perform to determine the problem?

A. Verify that you have active contributing routes on the device.

B. Verify that you have configured a policy on the device to accept aggregate routes.
C. Verify that you have defined a metric value for the aggregate route.

D. Verify that you have set the preference to a lower default value.

Answer: D

NEW QUESTION 20

Exhibit

sser@router~rel> show system 8?7

Posszikble completicns:
Services Show service applications information
snapshnot Show snapshot information
software Show lcaded JUNOS &Xtensions
statistics Show statistics for protocol
ETorage Show lccal storage data

You have configured graceful RE switchover (GRES), however you cannot complete the show system switchover command.

Referring to the exhibit, what is the problem?

A. The command is only available if non-stop routing is enabled.
B. The command is only available on the backup Routing Engine.
C. The command is only available If a backup router is configured.
D. The command is only available If graceful restart is enabled.

Answer: B

NEW QUESTION 22

Which two statements are correct about IS-1S? (Choose two.)

A. A level 1 only router can never form an adjacency with a level 2 only router.
B. For level 2 adjacencies, the area IDs can be different.

C. For level 2 adjacencies, the area IDs must be the same.
D. A level 1 only router can form an adjacency with a level 2 only router.
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Answer: CD

NEW QUESTION 25
Which two interface types are used as tunnel endpoints? (Choose two.)

Answer: BC

NEW QUESTION 30
You are bringing a new network online with three IS-IS routers using default Junos election priorities. The routers are configured as Level 2 only I1S-IS routers.
Which statement is true about the DIS election in this scenario?

A. The router with the highest MAC address will be elected as the DIS.
B. The router with the highest numerical 100 IP address will be elected as the DIS.
C. The router with the lowest numerical 100 IP address will be elected as the DIS.
D. The router with the lowest MAC address will be elected as the DIS.

Answer: B

NEW QUESTION 31
You are asked to create connections between routing instances on the same Junos device and route between the connected Instances. What are two ways to
accomplish this task? (Choose two.)

A. Use physical interfaces.

B. Use an IRB interface.

C. Use logical tunnel interfaces.
D. Use loopback interfaces.

Answer: AB

NEW QUESTION 32
You are deploying link aggregation groups.

A. By default, what are two considerations in this scenario? (Choose two.)
B. There should only be four member links per LAG.

C. All the ports must have the same speed.

D. Member links are required to be contiguous ports.

E. Member links can reside on different members within an MC-LAG.

Answer: BD

NEW QUESTION 35
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